IS
a
I
=
il
3

m
e
5
2
4
=
F

hull Bl

7\lT

ANFER

O|lQ |||l |lw]dN
>'_

A A Iffl%ﬂizllg 3FE&£-12:10 L4EFEH|12:25
2| A |aE 5F4%---12:30 6F4-++12:35
10| +
1] H
12| B i;_&i;]cgﬁﬂ(f;éfﬁéi;)ﬂ#l’sﬁﬁﬁ) 2~ 6F MRS T BB
13| k| [seahR 2~k SEsRAEE) —mE (1 - 2 - 34) Al
4] k| A larmE (5 6% aFs a0 ]
15| A | [|HusapR (2~6F 4 SEMEE) ®|A (3 - 4F) B|AMKes | OFE14:30
6| & | |2E2 B|ARE (1 - 2%) BAOKERS &
17| £
18| B
19| B &t R PMARMR (3F-6—-1-6—-2)
20| k| |oWERE (1F - ) CPE
211K| B
22| K PMAR&RE (4F-6—-3-6—4)
23| & | FHAERLE PMARME (2% -5—-1 -5-2)
241 +
25| H
26| A| |mEEEES WAKER L
27| K| A |PTAZE R (BAEICEB<LEIEHY) MAKERIE
28| K| |makEm |- 2%
29| K Bgfoo H

30| & | A |BARESF

HE
58208 (K) #—7>27-1L




